#ﬁEﬁ#&@#&E%&GZN“J 7OZRKA (MmBKI)

TR YERR D385 1 (P E S o) BEAE LS Lo TRYET, (Wi I3 d, IS E £ T, THEE TS, )
(—EBAMERR, EI-NEL _u/h\%%;éf//%/u\%_éb‘iﬁ‘o FEIIA— D —FIZTHERE TSV, BEDRD-T 56, REEOFETT, )

(2009 5B #fE—E* BHEHE 2000 £ 5 A 7 H

REREEFHREME 857-1
EMBEREFEL 4 75

TEL:026-256-9677 FAX : 026-256-9688

X OAEMEIC, BUVERHLG A TR A—/VIL, info@tkc—g.jp FTTHHEITZINY, [20094F 5H] <~X—v 1> URL-htto: //wm. the-g. ip/
%72 H B | @k ‘ REORERQ/ ) i |WH | 7H s —HEREMAX) [ ZETE (MAX) L. .
A—Tj— il A A B OBk EEM X—E5. O<OPIIBERKERL TWET,
GA) i sA7 | Wt | e I i "
6H & B |(CREMEZREIAIE ST 0| 3&3&5 399.2 | 39.92 | 100.0% | Z-& 2250 0 [~V] Z2fE5R<00r100[m]>=28.8% SR T0E] >=8.0%
(2E) ST | - 70[H] &10&12 (ST=75) 3 5| 493 « FZ15REFHETO[E]>=40.8%+ <B4 100[R]> =8.0%
T IRAT 100[=] 9 % 15[ 1,480 | s - LUB<EE70[E]>=14.4% (16[H=9.6%-3258=9.6%- 48H=9.6%)
@ NERIEZE | =kt 17 @TRZEE)] @I8EHAE)—) @IETF=—E Lk, LUB5| 417 | # [FEF=2—] Z2/E5R00r100[E]>=9. 2% 5RSIFFLT0ME]>=27.6%
@ /) 0 | Ffek=1/239.5 (~ VD 2) LUB10| 831 ;Jiﬁi « 21 5R<HFAET0[E]>=29.2% - <FFFE 100[E]> =8.0%
X
LUB15[ 1,198 | 1 f@& - LUB<EE70[E]>=26.0% (1658=16.4%-32[H=4.8%- 48FH=4.8%)
CRIERENAY NEVE |grag,| 0Bl 3&3&5 399.2 | 39.92 | 100.0% | 75 Z€5[ 0 [~~]  ZEf5R<00r100[a]>=25.2% - SRFALS5[1>=12.0%
s 55[A] &10&15 (ST=60) 3 5| 628 - J215REFH5[E]>=46.8% - <B4 100[R]> =8.0%
T IRAT 100[=] 9 % 15[ 1,885 | s - LUB<HE55[m]>=8.0% (1658=5.6%- 3280=1.2%-48FH=1.2%)
@ NERIEZE | =kt 17 @TRZEE)] @I8HAE)—) @IETF=—E Lk, LUB5| 520 | # [FEF=2—] Z2/E5R00r100[E]>=7.2% 5R<IFE55[E]>=30.0%
@ /)40 | e =1/239.5 (~VHIED &) LUB10| 1,052 ;éﬁi « 21 5R<MHAE 5[] >=34.4% - <FFFE 100[E]> = 14.8%
X
LUB15[ 1,555 | | f@& - LUB<HES5[E]>=13.6% (165H=5.6%-3250=4.0%- 48FH=4.0%)
CRMEEBIREENI AT ST4 0 0F| 3&3&5 299.4 | 36.3 |100.0% | Z-%& A 2250 0 [~V] Z2fE5R<00r100[m]>=28.8% SR<IFAE50[E>=11.2%
RKifeeeot | - 50[H] &10&12 (ST=55) 3 5| 493 - JZ15REFEH0[E]>=42.0% - <FEEE 100[R]> =9.2%
T IRAT 100[=] 9 % 15[ 1,480 | sk - LUB<HE50[m]>=8.8% (16FH=4.4%- 323H=2.4% 48BH=2.0%)
O NI | =ik (7 @IRLH)| @ISEAT)—| @IEF —{ESML] LUB 5[ 417 | # [EF2—] 25HE5R<00r100[E]>=8.0%« 5R<HF4E55[E]>=32.0%
@ /40 | Fe=k=1/239.5 (~VHIBRD I2) LUB10| 831 ;éﬁi * F15REFAES5[E]>=36.8% - <RFAE 100[H]> =8.8%
X
LUB15[ 1,198 | 1 f@& - LUB<HES5[E]>=14.4% (165H=8.0%- 3258=3.2%- 48FH=3.2%)
BhEE |CREBEEILVy—1 F | EBRAE| 80| 3&3&10&13 | 317.6 | 31.76 | 80.0% | & &t 15 | 1,435 <HEZE>2R=12.0%- 15R=35.0% 16R=33.0% <3 % >2R=20.0%
(RiEthis)| @IEIRIEZ | =PRI &Mkt DIRAEF A7 @IREH)) (EHEHE) @ISEAT)—] 5 FE5| 178 avgep | agen SCORFEZZEMM : HIE14 VI, MEZE TR, = 240 3R
@ ETF—EEHL] @I/INYY HER=(~J&AT—") =1/238.3+ (EF2—) =1/953 %10| 957 | ' SI6RFEAM: (~)  FZEBR=23.0% 10R=5.0%" 15R=5.0%
151,435 : (BFa—) FE5R=12.0% 10R=8.0%" 15R=13.0%
CREVEHRTL Vv — 1 MY | IBRA | 30| 3&3&10&10 | 166.3 | 16.63 | 80.0% | #F%ith 7 | 565 <HEZE>2R=10.0%7R=60.0%+ 16R=10.0% <ifi % >2R=20.0%
@ BRI | = WA &MFDOIRAE Y47 @IREE) (FEHTE) @ISEATY—) 9 F 5| 403 st | ahe SC2RFEZSZEM : MRS I, FEZTEIR, =20 3R
@ ET L @T/INYY k= (~J&AT—Y) =1/249.5 (FBFa—) =1/499 %10| 807 | ' M16RZEM : () FEBR=6.0%+ 10R=2.0%" 15R=2.0%
151 1,210 : (BFa—) FE5R=3.0% 10R=1.0%" 15R=6.0%
CREMEHRTL Yy —1 V| EBRA| 30| 3&3&10&10 | 99.8 | 19.96 | 70.0% | #F%ith 7 | 565 <HEZE>2R=7.0%TR=51.0%+ 16R=12.0% <% >2R=30.0%
@ BRI | = VR &M OIRAE Y47 @IREE) (FEHTE) @ISEATY—) 9 F 5| 403 st | ahe SC2RFEZSZEM : MRS I, FEZTEIR, =20 3R
BT o — B N R = (AI&AT—Y") =18249.5+ (FFa—) =1/499 10| 807 | ' SEI6RZEM: (-~ BT5R=10.0%+ 10R=1.0%¢ 15R=1.0%
@ ET LM @YY ( ) (EFa—) =1/ *E MIGRFEM: (~)  FHE
| | | | | | 515 1,210 : (#F2—) % TI5R=4.0% 10R=3.0%- 15R=5.0%




XIS, BRVERH LY A TR AV, info@tke-g.jp FTTHEAEITEIUN, [20094F 5H] <~<—v 2>
J&5¢ H Eg | g . NEUL RSOV RE T &7 —MEREMAX) | B ) (MAX) " L .
1 A 517 |k ** Cigw [awr] sre| woe ot o] BE | ooy | oy | o KT O OMBRRIEEERL TR
68 | K—BR5% |[CRAKF AR NS | ke | 30| 3&3&10&12 | 99.8 | 9.98 | 57.5% | 3.183 o | 5| 8| Loy | e |CFEEDTE2REI5. 0N BISRER=5.0% HE25-10.08) -5R-31.5%
@ [ BRIELE ) =PIFRELZAT @I8fEAT)—) @IET—EkiH ) @/ 4y =1 15 [ 1,315 <HEZS> < 15R=10.0% B 14R=1.0% Gl% >5R=42.5%
108 | BAf#E |CREyE 25T FA FT WA | 1000 3&10&13&15| 329.5 | 32.95 | 63.0% | 3.663 T 15[ 1,615 <HEZE>JRHE2R=12.0% &~ 1BB=13.0% 15R=38.0% ( K74y #—)
(£H) KT Hyh—=13{E B ER /| 1,595 GHEF>15R=37.0% (R 74 vh—-)
AT Fyn—=1518E R o Fi 14] 1,797 s | 1378 M2/ R —FRINER (5738 =) BV R EHEZE A
@ [BRIEE ) =fkii (7 @ISEAE)—) @IET=—EEHtk) 4 13] 1,755 ’ < RE=4.0%- 1[7] B B HI(14R)=3.0%- 2[8] B 521 (13R)=3.0%
@ /40 fifeE=1/329.5 (~VHilgE D7) | | A 12] 1,712 - 38 B AL EH(12R)=2.0%- [EE 7 1B(13R)=1.0%
K[ mR—F AL, 5T (L7 4yh-) - [ 18 X 5BAL] (1) ©. F80fHE =+ JB | 240
443- CREZ L2 HTZ |?§{j¢7§| 100|E|| 3&3&10&13| 349.0 | 34.90 | 70.0% | 4.441 | 8 | 16 [1,531 13.36 | 1,278 [[~Y]  <HZE>2R=25.0%+ 16R=45.0% <@ >16R=30.0%
Iby) @ [ ERIELE )| =VIFREZ(T @IREE)) @ISFEAT)—) @IET=—EELW{t) @/ YD =1L [FEF2—] <HEZE>2R=14.0% 16R=56.0% <ith > 16R=30.0%
CR#iZ JAI2 MTW |tk | 10011| 3&3&10&13 | 300.7 | 33.18 | 65.0% | 3.948 | 8 | 16 1531 [ 13.31 | 1,274 [[~V]  CHZ>2R-25.0%+ 16R=10.0% <> 16R=35.0%
@ [ ERIELE )| =VIFRESZ(T @IREE)) @ISFEAT)—) @IET—EELW{k) @/ YD =1L [FEF2—] <HEZE>2R=14.0%- 16R=51.0% <3t >16R=35.0%
# Bm®E |CRL—%—T kL FPF1 | #RA| O or| 3&5&10&13 | 399.6 | 40.88 | 100.0% | 7.415 7222 0 [~V]  ZEfE2R=20.0% (¥E{R=10.0%- ST EEHH=10.0%)
GREFE20[E] =#945%) | ST# | 200 (ST=80) . %ol 185 o3 | s < (HEHY) 2R=7.0%+ TR=20.0% 14R=53.0%
@ [BRIELE ) =fkii 717 @IRLH)) @ISFEAE)—) @IET=—EE{tk) 7 | 649 [EFa—] 22ME2R=10.0% (JE{K=0.0%-STHEH}K=10.0%)
@ /)40 i =1/496.5(~) +1/65,634 (FF2—) 14 |[1,297 < (HEHY) 2R=17.0% TR=20.0%- 14R=53.0%
CRLU—¥—3 ML FPK | #RA | 0F or| 3&5&10&15 | 399.6 | 40.88 | 100.0% | 4.034 7222 0 [~V]  ZEfE2R=20.0% (¥E{R=10.0%- ST EEHH"=10.0%)
(REFHEA45E] =#930%) | ST# | 4509 (ST=55) 0 Lo 273 1071 | 146 - (HEHY) 2R=3.0%+8R=15.0%- 15R=62.0%
@ [BRIEL ) =fkii 717 @IRLH)) @ISFEAE)—) @IET=—EEtk) 8 |1,093 [EFa—] 28ME2R=10.0% (JE{K=0.0%-STHEH}K=10.0%)
@ /)4 i =1/496.5(~) +1/65,634 (FF2—) 15 | 2,050 < (HEHY) 2R=13.0%8R=15.0%+ 15R=62.0%
T M [CRAVT f— /1 Z— 9AU| v | 30|E|| 3&3&10&10 | 99.75 | 9.98 | 60.0% | 3.382 g 7 | 502 656 | 40 <HEZE>2R=12.0%+ TR=43.0+ 15R=5.0% <3 &’ >7R=40.0%
@ [BRIELE )| =VIEREZAT @ISEHAT)—) @IETF—EELH{t) @/ HD]=1/198.6 15 | 1,075
@ [E [CR¥VA4—01 Z ?’%{jﬁﬁl ARENE| 3&3&10&14 | 398.5 | 39.85 | 80.0% | 5.722 5 | 518 <HEZE>5R=10.0%+ 10R=24.0+ 15R=46.0% <if # >5R=20.0%
(i) (20/40/60/100) 8 | 10 [1,037] 10.80 | 1,120 |3 HE5RE K PIFR — ¥ [F172=6.0% - 40/60/80/100[1=451.0%
@ BRI ) =E YR THRIFRS AT @IBEAT)—) @IET—ELH ) @I/ 4y =1k 15 | 1,555 KA i SRIEAT 28 — 40[R]=50.0% - 60[E1=30.0% - 80[F]=20.0%
CR¥HA¥—01 F ?’%{jﬁﬁl ARESE| 3&3&10&14 | 345.5 | 34.55 | 80.0% [ 5.841 5 | 518 <HEZE>5R=21.0%+ 10R=33.0+ 15R=26.0% <if # >5R=20.0%
(20/40/60/100) 8 | 10 |1,037| 9.25 | 959 [HESRAESHPIAR — KIEIZ=17.0%-40/60/80/100[=%1.0%
@ BRI ) =E YR THRIFRE AT @IBEAT)—) @IET—ELM ) @I/ 4y =1k 15 | 1,555 KA i SRIEAT 28 — 40[R]=50.0% - 60[F1=30.0% - 80[F]=20.0%
CRE¥ I A% —01 M ?’%{jﬁﬁl ARENE| 3&3&10&13 | 229.8 | 22.98 | 74.0% | 4.653 5 | 478 <HEZE>5R=21.0%+ 10R=33.0+ 15R=26.0% <ifi # >5R=20.0%
(20/40/60/100) 8 | 10 | 957 | 8.00 | 765 [HESRAEHPIAR —KIEE=17.0%-40/60/80/100[E=%1.0%
@ BRI ) =E YR THRIFRE AT @IBEAT)—) @IET—ELM ) @I/ 4y =1k 15 [ 1,435 KA T SRIEAT 28 — 40[R]=50.0% - 60[E1=30.0% - 80[F]=20.0%




XS, RRVENH DS . THREA—/UIL, info@tke-g.jp FTITHEKLIZE Y, [20094F 5] <~_—¥ 3>

J&5¢ H Eg | g . NEUL RSOV RE T &5 —MEREMAX) | B ) (MAX) " L .
6m| "7 A 507 || X% omw [awn| 2ne| m ot ] B | o | oy | o KT O ONERRmMEERL TR,
108 | 2%y [CREAUEBE T S-V(O)  |#ke| 50m| 3&8&9&13 | 179.8 | 22.47 | 70.0% | 4.406 c e s | ] g [ CHIZDZRR-15 00 H5R-.0% RIEI-6%- 5011-3%)
(RiEhi)| @NERIEL | =VIFIREY (7 @IREH)) @ISFEAE)—) @IET=—EEH{tk) F10| 837 + FZ10R=46.0% (35%+9%+2%) <ilF > FZ5RR=30.0%
@ /40 ffe=1/143.8 (~) - 1/359.5 (FEF2—) [FEF2— ) <HZE>222R=0.0% 3£5R=11.0% (YK [E]=6% - 50[E]=5%)
| | | + FZ10R=59.0% (45%+12%+2%) <ith % >3E5R=30.0%
CRABIUTIHZ I N-T(C) |‘§ﬁtﬁ| 30@| 3&8&9&10 | 99.25 | 15.27 | 64.0% | 3.764 | 8 7 | 502 | 6.04 | 433 |[~Y] <HWeZE>Z22R=24.0%- TR (Y[HI1Z) =37.0% (34%+3%)
@ BRI ) =VIFRES (7 @IREH)] @I8FEAT)—] @IETF=—EEH) <7TR(¥K730[0]) =3.0%  <GEFE>7TR=36.0%
@ /)40 | =1/99.25 (~) +1/198.5 (FBFa2—) [BF2—<FeZE>252R=10.0% TR (IR [B17Z) =49.0% (46%+3%)
| | | TR (H4°3081) =5.0% <G >7TR=36.0%
178 |REEE. |CRIEDAIBIF oI A | BIRA | 100H | 3&3&10&12 | 308.5 | 30.85 [ 72.0% [ 4.941 7% 15| 0 [(~V] <HeZ>75RE15R=39.0% (FEHK'=2.0%+ T R=37.0%)
M7 T 15] 1,315 (F74yh—) <MEZ>15R=29.0% <iEH>15R=28.0%
@ BRI ) =VIFRES (7 @IREH)] @I8FEAT)—] @IETF=—EEH) 8 |7 5| 438 [ 12.67 | 1,111 (FET By M=) <HEZ>FEE5R=0.0% FZ10R=1.0% £ 15R=3.0%
@ /YD IHEZR=)1/100 (~VfihiED 7) | #e 10| 877 [FEF 2] <FRZ>ZEME15R=2.0% (FEYK=2.0% 4 {RK=0.0%)
@ [15RZEHE (R MV E ) | & /N4 1%, 7 &> J1—15R1BH ik, 72 15] 1,315 (F74yh—) <WEZ>15R=50.0% <iEF>15R=28.0%
| | | (EETH9h—) <HeZs>FE5R=1.5%+ FZ10R=7.5% F215R=5.0%
248 | SANKYO [CRZ 4—/"—KRUZ4Mz BRA | 100 3&3&10&13 | 318.1 | 31.81 | 63.0% | 3.703 | 9 | 15 [1,615] 12.90 | 1,389 |<HEZE>ZHE2R=14.0% (FEH74"=4.0%+ TER=10.0%)
AR LR SX <HEZE>ZERE15R=49.0% (ffeZ5=45.0%+ LT Hi=4.0%)
@ B RIELE ) =PIFRELAT @ISEAT)—] @IETF—EH) @I/I4D HER=/1/523 GEH>15R=37.0%
CRZA4—/"—RUZ7SMr WRA | 700l 3&83&10&15 | 319.7 | 31.97 | 58.0% | 2.965 | 9 16 | 2,011 13.60 | 1,709 |<HEZ>%EME2R=15.0% (FEHH'=5.0%+ 1 {R=10.0%)
BHB T IHER S <HEZE>ZERE16R=43.0% (fileZ5=38.0%+ I Hi=5.0%)
@ B RIELE ) =PIFRELZAT @I8EAT)—] @IETF—EEHL) @I/IHD HER=%1/523 GHEH > 15R=42.0%
318 | K—BR5E [CRAEPD~HIRT-D WRA | 100/ | 3&3&10&14 | 349.8 | 34.98 | 68.0% | 4.161 [ 8 [ 15 | 1,555 13.12 | 1,360 |[-~] <HEZE>25HE2R=30.0% (FEHA"=2.0%+ HE{R=28.0%)
7202V ET NL-S <HeZE>15R=38.0% Gl >15R=32.0%
@ ERTEE ) =HIRIIREY 1~ @IREH) @I8HAT)—| @IETFT=—ExLHl) @/ 4V fEE=1/199.8 [T 2] <FEZ>22ME2R=7.0% (FEHK=7.0%+{R=0.0%)
<HEZE>15R=61.0% <@ % >15R=32.0%
CRENEPY~BH72T-D WRA | 100/ | 3&3&10&14 | 303.3 | 31.92 | 63.0% | 3.761 [ 8 [ 15 |1,555| 12.42 | 1,288 |[-~V] <HEZE>25HE2R=26.0% (FEHA=2.0%+ HE{R=24.0%)
72N ET NM <HeZE>15R=37.0% GlH >15R=37.0%
@ ERTEE ) =HIRIIREY 1~ @IREH) @I8HAT)—| @IETFT=—ExRIHl) @/ 4V fEE=1/202.2 [T a— ] <FEZ>Z2ME2R=14.0% (FEHF'=14.0%+{R=0.0%)
| <HEZE>15R=49.0% <@ % >15R=37.0%
CRAA I EPY ~ KIETERTE
DI DFDICHRVET NS |




